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Instructions and Symbol Key for Design "Mu1LUKa B OKHe"

Fabric:
Stitches: 89 x 94
Colours: DMC

14 count White Aida

Size:

Use 2 strands of thread for cross stitch

6.36 x6.71 inches or 16.15x 17.05 cm

Sym No.  Colour Name Sym No.  Codour Name
= 310 Black 5l 3712  Blush pink
3328 Dark salmon [ | 347 Egyptian red
322 Delft blue 312  Night blue
x 3755 Pastel blue c 334 Pale indigo blue
$ 677 Sand gold T 729 Honey gold
435 Tabacco brown °© 436 Teddy brown
Q 437 Camel {5l 738 Sahara cream
111 317 Steel grey 801 Mink brown
o 676 Savannah gold o 840 Hare brown
R 842 Beige rope X 543  Shell beige
= BLANC BLANC
Use 1 strand of thread for backstitch
DMC 310 Black
DMC 434 Cigar brown
DMC 498 Dark red
DMC 803 Ink blue

This chatt has been designed and printed with our best intentions of being without mistakes, However, the possibility of human
efror, printing mistakes or the variation of individual stitching does exist, and we regret that we cannot be responsible for this.

Produced using Cross Stitch Professional for Windows www.dpsoftware.co.uk




